Unit 6 Review
Law of Sines and Cosines
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11. In AABC, side a is twice as long as b and m<C = 30. In terms of b, the area of AABC is:
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12. If a = 20, ¢ = 16, and m<A = 30, how many distinct triangles can be constructed?
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13. In AABC, if AB = 10, BC = 8, and m<A = 45, how many distinct triangles can be
constructed? sm% sin L 130 ~02-1 = 117.9
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14_. In AABC, if a=8, b=5 and ¢ = 9, what is the value of cosA? |
B ssermsines 02 g24 62 2(4)(9) sA

—47 = -0 (SA 42 _
AT 0 . 90 b R T

15..,. A p!lm @ tca NS¢ .j eanic jet flying at an altitude of 12,000 m finds that a stationary ship is
In the same ve IL» al ne 2 as the 1et s course. He measures the ship’s angle of depression to

8 7.' a2 - I .i..L -
be 14°. Two minutes later he finc *it to be 43°
WS 1% o I AAT AR R RLLRAS AT {
- - —
Y .




16. An engineer wan

and measures from
sinkhole?

2= 1202 + 747—2(120)(3) c0s 102
X%z 2387F.18

[X: .15%6@;!

17. Suppose you start at the corner of a room and walk 10 feet
at an angle of 70° to the right hand wall. Then you turn 80°
clockwise and walk another 7 ft. If you had walked straight
from the corner of the room to your stopping point, how far
and in what direction would you have walked?
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ts to measure the width of a sinkhole. He places a stake at B as shown
the stake to C and D as shown. If the angle at B is 103°, how wide is the

wall

18. The pilot of a commercial airplane finds it necessary to detour around a group of
thunderstorms, as shown. He turns the plane at an angle of 21° to his original path, flies 100
km, turns, and then rejoins his original path 170 km from where he left it.

a) How much further did he have to fly because of the detour?

b) At what angle did he rejoin his original course?
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19. A flagpole 40 feet tall stands on top of the Wentworth Building. From a point in front of
the building, the angle of elevation to the top of the pole is 54°, and the angle of elevation to
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2 bottom of the pole is 47°. How high is the building?
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